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BEED E X
==Ky} 4K 5H 6H 7H 8H 9H 10H 11H 12H 1R 2H 3K
AlEEH
> L134 Ba/kg - aaheach Cyaheac - asheach Caheac - asheach ke I asheach ke - aheach Cyheac I aheach
et T L |y L4137 Ba/kg By B FRcary B FRcary B FReary B FReary B rRcacy
o LAE Ba/kg i asheach Cyssheac - asheach Cyssheac i asheach Cyssheac BEEd Cyssheac - aheach Cyssheac I yaheach
SRR EYH 48 1H 58130 68 24H 7H1H 8A1H 9A9H 10A18H 1181H 12828 18278 2A3H
1. BoE#£L, 8, 00 0Bg kgl FTHh B,
By uys 5H 6H 7H 8H 9H 10H 11H 12H 1R 2H 3K
AEIEE
7 L134 Ba/kg i aheary Cyssheacy i qaheary Cssheacy ;s heacy issheac BHEEd Cyssheach s heacy s sheach ;g heacy
B 7 L |2 4137 Bqg/kg 17 20 25 22 21 16 19 20 19 27 12
7 LEE Ba/kg 17 20 25 22 21 16 19 20 19 27 12
SRR EYH 4818 58130 6A3H 7A1H 8A1H 9A2H 10818 11818 12828 1R6H 2A3H
1.EoEZEZ, 8, 00 0Bg kg FTTH5,
FRIK JLIE4))
==Ky} 4H 5A 6H 7H 8H 9H 10H 11H 12H 1R 2H 3K
AEIEHE
> L134 Ba/kg EaaReacE ke EaaReac ke EaaReac ke ‘e ke ‘e Cyheac EaheacE
B> L |y 4137 Bqg/kg 15 15 19 19 18 12 11 18 24 15 12
AV NN Ba/kg 15 15 19 19 18 12 11 18 24 15 12
SRR ENH 4818 58130 6A3H 7HA1H 8A1H 9A2H 10A1H 11818 12A2H 1B6H 2A3H
1. EHoEA(EZ, 8, 000Bg/ M LULTFTH 3,
HEH X 4K 5A 6H 7H 8H 9H 10H 114 12H 1R 2H 3K
=Xv)
A EIEH 154R 25 IR 1=54R 25 IR 154R 25 IR 154R 25 IR 154R 25 IR 1=54R 25 IR 154R 25 IR 1=54R 25 IR 154R 25 IR 154F 25 R 154F 25 IR 1=4F 25 R
2 L134 Bq/m3N REEYd | RELT | REELT | REELT | RHEELT | RHET | RHET | RHET | RHET | BRHEET | REET | BREET | REET | BREET | BREET | BEET | BEET | BEET | BEEd | REEd | RELT | RELET
LS 7 L |22 L137 Bqg/m°N BREEY | REET | BRHET | RELET | BRHEET | BRHET | REET | RHET | RELT | REET | RHET | RELEY | REET | RHET | RELET | REET | BRHEET | RELET | BREET | BT | BREET | RHET
vy LEE Bg/m°N BEET | BEET | REET | BREET | REET | REET | BRHET | REET | REET | BHET | REET | REET | BEET | REET | BREET | REET | REET | BRHEET | REET | REET | BHET | REET
SVERHEEYH 4818 4A2R 58130 5A14R 6438 68 24H 7TA1H TH2H 8A5H 8A8H 9A2H 9A9H 10A188 | 10A1H 11858 11A88H 12828 12A3H 1B27H 1A6H 2A3H 2A6H
1 . BEOREEL, €327 L4134 :20Bg,/ MmN, £ 7 L137 :30Bg/ m*NUATTH 3,
BUthin 5t ==Ky} 4H 5H 6H 7H 8H 9H 10H 114 12H 1R 2H 3K
s R u Sv/h 0.043 0.055 0.055 0.042 0.053 0.032 0.044 0.041 0.046 0.042 0.043
HIE SR Q) u Sv/h 0.047 0.057 0.053 0.049 0.059 0.044 0.048 0.049 0.052 0.042 0.043
RIS IR E R
HIER3) u Sv/h 0.055 0.055 0.058 0.051 0.053 0.053 0.049 0.053 0.045 0.052 0.048
s R G u Sv/h 0.045 0.054 0.052 0.053 0.050 0.051 0.042 0.041 0.046 0.044 0.045
AlE B 4A1H 58130 68240 7TA1H 8A1H 9A9H 10A18H 11818 12828 18308 2A3H




